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1 2A28| =% |FERRFBER. FEMREEGHERBRS 4,000
2 2A6H| =% |RIBREHMRSTESR 5,000
3 2A8H| =% |INFEMLAZHER 5,000
4 2A8H| =% |[EER-VNIXMHEEHENEERRS 5,000
5 2A98| =% |REFREHEFFER 3,000
6 2108 =% |(BLUMERFHEHEBRER 5,000
7 2A10B| =% |ERREZENEREBFF—K) 8,000
8 2A12H é\% JASKLERFEFEMREDSY L ERERTEA26EAERTSHES 245) 10,000
9 2A138| =% |[FETEIZLOBHRR 2,000
10| 2A14H| =% [FEHERFHEITER 5,000
11 2A158| 2% [QRAEREGARES 3,000
12 2158 =% |(FETEREZERER 5,000
13 2A158| =% [A<KLARIIERESHESR 3,000
14| 2A15H| =% |(AEZEASHEOEVNEHRS 5,000
15 2A208| =% |FETEREHSHEBRMS 3,000
16| 2A228| Mm% |(TEE (FWLENDSHXEFTR 5,000
17 2228 =% [(FEHRERFHAESIBER 6,000
18 2228 =% |YOPAEREHER 5,000
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20 | 2R24R| =% |FEHXREBEMEESEERR 5,000
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22 2A25H| =% |REFIXEA®REBESFFS 6,000
23 2A268| HE |[TBUEEZ B ERIXRRTE 7,560
24| 2R278| af |KEVILI/HEFHAEERKEBES 10,000
25 2A278| =% [EELEEHERIIXE BERIREBR= 10,000
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